WAL\ - O X @
QWAAJ /&A».gu@3>o
(W)= 20" -SSR+ demoacn B

C1) = 3CD" =sO)+1|
()= 3- S +1| =9
AD C 0\)

(a} ?;a,—Sa—H\
'% q BKFSa—H))

(¢An) = 3(;&»\@»\) <+ 1)

= 3 (H2vh+ W) ~Sy-Sht!!
- Lx*4+byxw 2L S -Sh+!|

—

C NS ) 2 v byl +2)0 - S v« =S htl l> |

DIFFEREN CE
QuoTieNT

Ave . RATE
\ , OF C\*;\'A(NA,E

/o] e

s\ope of secant line




Q)
»bwéb(iv b(\cw\
n

(3>LL+£>>¢\\+2>\/\L —S;Q—SL\—H\> — (5>Z_S¥+l>

/é@ﬂy DEETEE

C(o)<-+5k S> C\,\*o)
) g

-

.‘p\."kla—l mhﬂ&

|‘“

——

x-vn.,\"{




. " . '
“Sp\l“‘ —OLOM¢\n '-g'\uvxc‘\’\o A -

C?;ece.vdise_\




-
e
£~
vxé‘h
on
S

0
S
(v) =
b
(x
)

€
&
v
‘L
. P
T

D
(x)







(WN=2x"—4x -2 /K

\NTERCEPTS

m Ve —A;\Ai Cse:'\' >

O = ?)\CL—‘*Y@

v = __bi\\bz—-‘ia.gv (\,‘12./0)
2a (—-.é‘ilo)
Y = 4 i‘i(-‘l)l~q<3)(:z_)
2(3)
om AT
G ' 6
. =4ENd10 - 4>
b b
—_— -+ o) K = 24&"* l'jl
%,\l~‘\rl‘ AT P -
2 Ny, = x~Tp , — 39

3

@ 9" Nd Cse:% \<=0>
{Ce) = (el - a2 =~
Co )




